EARAROBREBRT —5 XN—ZXBISH—F

20118188 (A 13EXH4H

IR #EAE B3= UYS%R—M)

\(9&1@1 n ‘[%EH%F&] | & 1000 =

[AE%] 17 :2,400,000 § ~ 237&:960,000 @ . 37&:600,000H  475:360,000 ™ . 53&:240,000 &

BESS/MH [ BF (T8 |9/L (B2 | @BIEa | E3F [Sis% | AR | #hE | #5%60 FB) / B / SEWS
PI—F7 I — 5 E"i%;# 1:28.0 433|381 - | 6 | 466 |MBEMF (M)
. (=) _ (B) BEms
RTFUHALRIVR B:FSALY1vva (-3) SIS
y90m 4 3 %ﬁ%ﬁém 1(:28.)1 16-13-12 [37.4| — 1 517 z;%%g kD)
. 3/4 iy
RFUBARIVE 8YINIVITI )| Smaitoms
HYRZE—5— 46 EE(;E%E (1:28.1) 6-5-6 | 38.0| - 9 464 %;PH%A (1)
. 797 ]
RFVVLY/FLF BRATUVTRUI— ’ )5
IV IJTLT 3 gllolﬁ (1:28.4) 5-4-4 384 — | 2 | 465 %%E E(jc#)
c 11/2 =
RINMVTFSY B VST E—S 40 | FUTY s
SAILYT—)b B3 geeigéz 1:28.4 2-2-2 |38.6] — 4 | 475 ﬁg%ﬁ&ﬂ: ()
. (79%) SHER
RADTF AT —R— K 8 RU—LLAYR— ’ | mes
WS 4 5 | FOHEES 1:28.6 1=1-1 8.9 — 3 482 | FEMR (K
34’*)[&/_{1_ . 56.0 (/4) @) |MREX
R:707% 8:RU—LO—X EwILyRI7—L
= e v 3 | EEsE= 1:28.6 12-14-13 [37.7| - 10 | 401 | EZER KH)
7|1|2|FZRAED . 5.0 @6 ) |EE0E @
RiF4—TAAA B EXAIRY 20-U—T7—L
81111 L4 A 4% 5 g%i( 1( 72?1)7 9-7-8  [38.4| - 7 | 476 %ig%% (1v£)
RiFVyvH /8% B:F4TaY (-2) B\ #BI-RL—yavaEI7
- B4 | DREE 1:28.7 14-11-10 [38.2| — | 12 | 472 |AREEZ H)
9/8/15 ,'J\T_/:f‘jf . . B 56.0 e @) |EBET_
R:O—IRAUAXA BRART A=Y YVNVTF—L
Swyge o5 | HEHEX 1:29.0 365 389 — 8 | 484 |LUthEE (atS)
101 3 7"’ =veer 5.0 A1) o |MEER
R:vavFvhvF B:F4F—IAL 45
Do —T—7 o7 | BARE 1:29.0 15-16-15 [37.9| — 14 | 444 |WLEFEE (KH)
njsl9|~2—L _7““1 e \ 5.0 \F) 47) | EEE—_
RIZAAATIZVIR B:E—FT4R #A Em
121 8116/ IVRILTILR Iy s 1:(29).6 11-8-9 |39.3| — | 13 | 439 fﬁﬁﬂz (IN#H)
. 3 4 I L&
RVENDF— BTU—YHYSAR QO B
13 7 FLARNU—F T v 4 ﬁﬂtﬂ)EE 1:30.0 8-9-11 |39.7| - 1 495 Eﬁg*ﬂ(mm
. o) g ]
RIXITIATAwIIAUT— BRTFI)—hk (-6) [liEe]
= o6 | FEBA 1:30.3 13-15-16 [39.2| — | 15 | 497 |#HAEX (&)
14 14| 7RS4 5.0 11/ ) | Ao
Ridr—zIU7Y B:Y—-5—JaVav FRIUS
[N 8 4 | MIFIESR 1:30.5 10-12-14 |39.9| - 16 504 | {EERS (KH)
15/7|13| 71 —~VFY 54.0 ) wHEA
RIRTYFLY BAA—RTAX ®) 1SR ms
— Y 4 | BIENE 1:30.7 7-10-7 | 40.4| - 5 64 | EHRE (KH)
logy 4 ,7\.’“:\(937:7 21— %6.0 (1 1/4) @) |REEL
RiIAYYTSwya B:7—IAHRY FEEANE
@ 11— —BBIEfI
13—7+—
20—F— 6,8,3,12,5,10,4,7,1,13,16,2,14,15,9,11
30—7— 6,8,12,5,10,3,1,16,7,4,15,13,11,2,14,9
43— — 6,8,12,5,3,10,4,1,16,15,7,11,2,13,9,14
o ILRE
B B 12 1,260 JA R 11-12 940M4 % 5E 6-6 3,080 3EE | 10-11-12 17,220/
7B B 12 400/ 10-12 4,100 B 6-6 3,370H 3JEE | 12-11-10 52,120/
1 190 10-11 2,090H F5 E 11-12 2,760
10 8604 BB 12-11 6,230

ABIC OV TRUTEREERRODDZE. THRIIZEL.




